4x4 Terminator Test
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During the restricted access
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It didn’t work.

|t needs more work!!




Check Pointsin EMCal side

for the ROC reinstallation

From ERT stand-alone data (1000 events)

T @Set EMCal threshold very low (e.g. 2x2,4x4a,b,c=14,24,24,24)
confirm every SM and every trigger typeisfired.

A Set EMCal threshold medium (e.g. 21,31,31,31)
compare to the previous hot SM map

1B Set EMCal threshold to the highest(e.g. 63,63,63,63)
compare to the previous hot SM map

The 2x2 trigger sometimes noisy with the threshold 21. It depends
on the initialization. 23 or 24 might be better to check the ROC.



4x4 (a& & b), (al|b) for the reduction of turn-on width
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It should work, If they are not correlated.
It is hard to confirm by RUNZ2 data, since the thresholds of aand b
were different.

Let’stry during the commissioning period!



